May 25" How rests are used to complete measures Due June 1st

To make these symbols work:

1. Click on the large square (8 circles) around the symbol

2. Right click on mouse and Copy the symbol

3. Right click on mouse and Paste the symbol on the staff

4. Click on outer square and use arrow keys to move into place

If symbols do not
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work, find some on
*Rests must be fitted into a bar so that the beats can be seen clearly.

the internet yourself
to copy and paste.

*Generally, no rests greater than one beat should be used.
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THIS IS CORRECT THIS IS NOT AS GOOD (YOU MUST SEE 3 BEATS)

Beat 1

Knowledge (25): Complete with rests: (pay attention to the key signature)

*A beat should be completed with the biggest rest value possible.
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Thinking (25): Complete with rests: (pay attention to the key signature)
*Each beat must be completed before the next beat can begin
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Application (25): Complete with rests: (pay attention to the key signature)
*Each part of a beat must be complete before the next part begins.
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Communication (25): Complete with rests: (pay attention to the key signature)
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